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F=al +bj+cksG=di +ej+ fis H = gi + hj+ pk (10% )

(a) #[BIF2(A] #1 |B{=2]A]| (8% | B | =dey(B))
(b) #[AJBI-AIC] RI[B]=[C]

(¢) HAl+[BI' =[A]" +[B]"

(d) (F+G)-H=F-H+G-I

(e) # | Al=0 8 [A]”" RAf

=~ J&F 5B B A8 3L 3 g 3 (Fourier series) ("1 5% )
fix=-1 for -2<x<0 , f(x)=1 for 0<x<2 |
"= -~ (a) Find the general solution of (xe” —e*)y'+ (e’ —ye*)=0 (15%)
| (b) Find a particular solution : yy' +4x=0,y(0)=3 (10% )
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(b)3FR B[ ?7] wg R AT e 3% #8344  (Inverse Laplace transform) (5%)

(c) 324 Laplace transform R F P HF X2 1-0y"+5'-y=0;p(0)=3 .y (0)=-1 (15%)
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(1) 5A4=12 4 Ol zaprumpm A ' 228 AR A2 (5%)
6 4 2

C(2) FR B A 2 A5 (eigenvalue) & #5485 @ = (eigenvector) 7 (10%)
(3) HFRETH ALK TREAZEH * (10%)
.7c1r =‘Jc1
xzf =2x, +4x,

L}
X, =6x,+4x, +2x,





